

# Converting Celsius and Fahrenheit (F)

Estimate or convert the temperatures.

$-11^{\circ}\text{F} = \underline{\quad}^{\circ}\text{C}$

$66^{\circ}\text{F} = \underline{\quad}^{\circ}\text{C}$

$-70^{\circ}\text{F} = \underline{\quad}^{\circ}\text{C}$

$-29^{\circ}\text{C} = \underline{\quad}^{\circ}\text{F}$

$67^{\circ}\text{F} = \underline{\quad}^{\circ}\text{C}$

$51^{\circ}\text{F} = \underline{\quad}^{\circ}\text{C}$

$-26^{\circ}\text{C} = \underline{\quad}^{\circ}\text{F}$

$-85^{\circ}\text{C} = \underline{\quad}^{\circ}\text{F}$

$91^{\circ}\text{F} = \underline{\quad}^{\circ}\text{C}$

$75^{\circ}\text{C} = \underline{\quad}^{\circ}\text{F}$

$-15^{\circ}\text{C} = \underline{\quad}^{\circ}\text{F}$

$75^{\circ}\text{F} = \underline{\quad}^{\circ}\text{C}$

$74^{\circ}\text{F} = \underline{\quad}^{\circ}\text{C}$

$3^{\circ}\text{F} = \underline{\quad}^{\circ}\text{C}$

$100^{\circ}\text{C} = \underline{\quad}^{\circ}\text{F}$

$-1^{\circ}\text{F} = \underline{\quad}^{\circ}\text{C}$

$53^{\circ}\text{C} = \underline{\quad}^{\circ}\text{F}$

$76^{\circ}\text{F} = \underline{\quad}^{\circ}\text{C}$

$22^{\circ}\text{C} = \underline{\quad}^{\circ}\text{F}$

$62^{\circ}\text{F} = \underline{\quad}^{\circ}\text{C}$

$31^{\circ}\text{C} = \underline{\quad}^{\circ}\text{F}$

$4^{\circ}\text{C} = \underline{\quad}^{\circ}\text{F}$

$70^{\circ}\text{C} = \underline{\quad}^{\circ}\text{F}$

$85^{\circ}\text{C} = \underline{\quad}^{\circ}\text{F}$

$-6^{\circ}\text{C} = \underline{\quad}^{\circ}\text{F}$

$87^{\circ}\text{F} = \underline{\quad}^{\circ}\text{C}$

$11^{\circ}\text{C} = \underline{\quad}^{\circ}\text{F}$

$-79^{\circ}\text{F} = \underline{\quad}^{\circ}\text{C}$

$-30^{\circ}\text{F} = \underline{\quad}^{\circ}\text{C}$

$-97^{\circ}\text{C} = \underline{\quad}^{\circ}\text{F}$